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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, Router 1 learns about Route X. 

Which statement is correct about Route X when using the default BGP advertisement rules? 

A. R1 will not advertise this route to any peers. 

B. R3 will not advertise this route to R4 or R5 without an explicit policy. 

C. R4 and R5 will not advertise this route to each other. 

D. R2 will not advertise this route to R3 without an explicit policy. 

Correct Answer: C 

 

QUESTION 2

You are configuring IBGP and you must ensure that reachability is maintained between participating routers, even if the
physical topology changes. 

Which two actions should you perform in this scenario? (Choose two.) 

A. Configure DHCP on all IBGP devices. 

B. Configure an IGP within your IBGP network. 

C. Configure static routes to all IBGP peers. 

D. Configure IBGP peerings to loopback addresses. 

Correct Answer: BD 
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QUESTION 3

What kind of filter would be written to protect control traffic destined for the switch? 

A. A filter applied to the default VLAN 

B. A filter applied to the native VLAN 

C. A filter applied to the management interface 

D. A filter applied to the loopback interface 

Correct Answer: D 

 

QUESTION 4

Which two statements are true about GRE tunnels on Junos devices? (Choose two.) 

A. Only one GRE tunnel can be included for each logical unit. 

B. Multiple GRE tunnels can be included for each logical unit. 

C. GRE interfaces can include multiple logical units. 

D. GRE interfaces can include only a single logical unit. 

Correct Answer: AC 

 

QUESTION 5

Which two statements about Layer 2 loop prevention protocols are correct? (Choose two.) 

A. RSTP distributes the current tree topology using the root bridge. 

B. STP can take 30 to 50 seconds to respond to a topology change. 

C. RSTP can take 30 to 50 seconds to respond to a topology change. 

D. STP distributes the current tree topology using the root bridge. 

Correct Answer: AB 
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